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Constructing formulas (covers skill standard 1.8.1)
Formulas in a spreadsheet all have to start with an = sign.

There are several operators you can use after the = sign:

+   add

-    subtract

*    multiply

/    divide

Here are some examples of how these operators have been used to construct formulas.
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Type of loaf Price  Numbersold  Income
Wholemeal  £0.50 36 £18.00

Brown £0.40 27 £10.80

White £0.30 45 £13.80

Total loaves sold 109

Total income from brown and white bread £24.60}





Example 1

Task 

Find the total cost of 17 items costing £3.97 each.

Solution 
You need to use the formula 17 * £3.97. 

In a spreadsheet you put each of the numbers you want to use into a cell and then type in the formula using the cell references. 
(See the diagram below.17 goes into cell B2, £3.97 into C2 and the formula into D2.)
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Example 2
Task 

John buys 17 memory sticks for £67.45. How much does each one cost?

Solution 
You need to use the formula £67.45/17. 
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Exercise

1   Use a spreadsheet to work out the following:
a)  A man is building a wall. He needs 600 bricks. Bricks cost £195 per thousand.

i) Find the cost of 1 brick.

Cost of one brick ………………………………………..

Formula used ……………………………………………..

ii) Find the cost of 600 bricks.
Cost of 600 bricks ………………………………………

Formula used ……………………………………………..
b)  Jane is buying a computer. She buys the base for £459.89, the screen for £99.50, the keyboard and mouse for £12.75 and the speakers for £39.99. Find the total cost that Jane paid for the computer.
Total cost ………………………………………..

Formula used …………………………………………….
2   Spreadsheets contain mixtures of formulas and functions. The spreadsheet below uses the functions:
· AVERAGE
· SUM

· MAX

· MIN

· and the formula =F13-F14.

Name the cells you think contain the following:

a)  SUM ………………………………..

b)  AVERAGE ………………………………….

c)  MAX …………………………………

d)  MIN …………………………………

e)  =F13-F14 ……………………………….
3   Make the spreadsheet above, using the correct functions and formulas.
4   Jenny is added the group. Her scores are:

French

77


English

83


Maths

67


ICT

85
a)  Add Jenny and her scores to your spreadsheet. Print off your spreadsheet showing the new figures.
b)  Print the spreadsheet showing all the formulas clearly.




The formula =B2*C2 is typed into this cell but when you press Enter the answer to the formula appears.
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